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General Instructions :

1 Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

3 For the objective type of questions, you have to choose any one of the four alternatives given in
the question i.e. (A), (B), (C) and (D) and indicate your correct answer in the Answer-Book given
to you.

4 All the questions including objective type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective-type questions.

5 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

6 In case of any doubt or confusion in the question paper, the English Version will prevail.

7 Write your Question Paper Code No. 68/0S/2, Set | A | on the Answer-Book.

8 (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer

in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Odia,

Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided

in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the

responsibility for any errors/mistakes in understanding the questions will be yours only.
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Tl U9T-UF % UE UNS UX STUAT ShAIh oAy foe |

FUAT YT Bl AT @ b YT-UT b HA YS! qAT YA Bl Ia! & WA & fAaAr gem
U3 % a9 HUT BUI &1 3@ 91 I SAd W B o b YT hiAh €9 H |

JEgFrs geat & Ul A faawedt (A), (B), (C) @91 (D) # & $IE TF A AT & T &
T SA-gRAaH § 39 Hel A dl [WEl |

TR Tl & I G YAl &b X aiia @ty & 9iax & a7 €1 agiTe vl
& fu oo @ gHg @l fen s

SA-gias ¥ weaH-fag S stgan i Wt & sifafea wel ft srgwaie faay X
T Bl ST SETAT SR

UeTaS # el T YR % Hae Styar gfaen o Rufq § SRS oA & 9 erm|

U1 ST-YRasd TX U979 &1 &S 4. 68/0S/2, ¥ |A| |

(@) W9 haw W/ § &1 BT oft, 9fs ong A’ @ e &Y 8 Rt Tw W § IR
T 9hd ® ¢

piepull, ARTYY, STHRAT, TUTE, BT, T&hd S |

HUAT IR-YRah1 H oy U gt ¥ fow 6 oy e | § I fow @

(@) afy g &L v s & arfofad frdY o wron & oo forad &, @ 9ot &l ause
¥ B Al Jfedl / TAladl B SRR head el SRl

NOTE / ot :

(1) Answers of all questions are to be given in the Answer-Book given to
you.
gl gl o TR STRT o Tl SR gRaen H & foe |

(2) 15 minutes time has been allotted to read this question paper. The
question paper will be distributed at 02.15 p.m. From 02.15 p.m. to

02.30 p.m., the students will read the question paper only and will not
write any answer on the answer-book during this period.

29 Y9-U5 I Ygd & fau 15 fae o1 wma o @1 | 99991 o1 forrer et
T 02.15 ot foham STEm | 02.15 &1 ¥ 02.30 &1 G BT hdel Y9H-F ahl I
3R 39 2mafy & SRE F SR-YRHT R HIE SN Tl o |
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ECONOMICS

FYITA
(214)

Time : 3 Hours] [Maximum Marks : 100
g ¢ 3 Hue] [qurics : 100
Note : (1)  This question paper consists of 54 questions in all.

(i1))  All questions are compulsory.

(iii)) Marks are given against each question.

(iv) Section — A consists of :

(a) Q. No. 1 to 20 - Multiple Choice Questions (MCQs) carrying 1 mark
each. Select and write the most appropriate option out of the four options
given in each of these questions.

(b) Q. No. 21 to 35 - Objective type questions carrying 2 marks each (with
02 sub-parts of 1 mark each). Attempt these questions as per the
instructions given for each of the questions 21 to 35.

(v) Section — B consists of :

(@) Q. No. 36 to 46 - Very Short Answer type questions carrying 2 marks
each to be answered in the range of 30 to 50 words.

(b) Q. No. 47 to 52 - Short Answer type questions carrying 3 marks each to
be answered in the range of 50 to 80 words.

(c) Q. No. 53 and 54 - Long Answer type questions carrying S marks each
to be answered in the range of 80 to 120 words.

e (i) 39 999 A A 54 s )
(i) &+ wew orfard ¥
(iii) ¥A® U & &b Igb HMA MY T ¥
(iv) @ — & & 9T 39 YBR ¢ :

(a) 9T W@ 1 9 20 T Tglamhedl U9 §, Ydsd U 1 3id &1 5| gaitasw
SUge [qhed bl gMU qu1 39 YeT HE & dMe foray |

(b) usT dE&m 21 § 35 O% IGgWH UeT ¢, UAd UeT 2 3% &b 3|
(I % 2 @g WM Uh-Udh 3 & s)| 39 21 & 35 O% & WAl
& 36 fau feg o frdelf & ogER &@ HIfWQ

(V) @%E—-9 % YT 39 YBK & :

(a) UsT €A 36 ¥ 46 T% SAfqTg SUX YHX b TAD 2 bl b U & |
e Sax 30 § 50 ot H famm s ©

(b) WsT HEAT 47 ¥ 52 % WY—IAT YHN b UAH 3 3l & YT & | foTeeh
AT 50 ¥ 80 ereai H femm OB

(c) 9T H&AT 53 qAT 54 IH-IAX YR b YD S bl b 9T ¥ | Fiewr
S 80 ¥ 120 =l # famm o)
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SECTION - A
gos — A

1 Which of the following statements is correct?
(A) Durable use producer goods get depreciated after continuous use.
(B) Economic goods can be bought in the market.
(C) Private goods are privately owned.

(D) All of the above

frfafad o ¥ @M a1 HoA T8l 5 7

(A) TEIERT IaEE aEgell b AR SUAN ¥ SHE! R o Wl ¢ |
(B) o axgd IR H @Rl S 9ol 8

(C) Tl o el wnfra & Bl 21

(D) SUX & Il

2 When a mother cooks dinner, it is an example of :
(A) Free goods (B) Free service
(C) Economic goods (D) Economic service

S Ueh HIGT WHT 990! &, f 98 S § ¢

(A) Fi %G BT (B) Hwd T &1
(C) onfe axg & (D) onféen qar @

3 Suppose you are a producer. In which of the following situations you will
expand your productive capacity?

(A) Production > Consumption (B) Production = Consumption
(C) Production < Consumption (D) None of these

A AT 6 oT Ueh Scaes & | = O fha otaRem § onu Sue e Hdn
CARS[ RN

(A) IEET > YA (B) IdET = ITH
(C) AT < SUHM (D) = ¥ B3 7l
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4  Production units located in the country and owned by the residents of the 1
country are called :

(A) Private production units (B) Indigenous production units

(C) Government production units (D) Foreign production units

fopdly 291 A Rud @ ITE ShIZaT S 99 29T & faAal & @it § Bial &, 39 hed & ¢

(A) frell Sere gebrgar (B) =Xq SwIET sehrEdl
(C) GBI IAET ZHhEAT (D) fodsh Scares gargar
5  Minerals and Metals Trading Corporation (MMTC) is an example of : 1
(A) Foreign production unit (B) Co-operative society
(C) Public sector undertaking (D) Private non-profit organisation
g1 9 @is AR M e T e & 7
(A) fesll s g (B) @l afiia
(C) wrEIi+ed & IUHH (D) foeil fR—aoerl e
6  Costs which are compulsory and have nothing to do with the amount of 1
production of the goods and services are called :
(A) Variable cost (B) Fixed cost
(C) Implicit cost (D) Explicit cost

q AR ST AT 1 Bl € WiehT FTTebt gl T Feetl o Ired WX W Hlg o
&A1 E BNl I wEd €

(A) dfiadt @ (B) Rex wrra
(C) ormse |arTd (D) s drtd
7  Which revenue of the following is the same as price of the commodity? 1
(A) Total Revenue (B) Average Revenue
(C) Marginal Revenue (D) None of these
frafafad & & @9 | M a5 & HFd &b G99 o 7
(A) P W™ (B) ofgd emm™
(C) T eI (D) 9 & BE T
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8 If 70 units of output are produced and the total fixed cost (TFC) is ¥ 250 1

along with total variable cost (TVC) of 450, how much will be the average
cost (AC) of the production?

gfs fopdl axg @ 70 IHEAT B SURAT Bl & SIX Iudl pa Rex @ (TFC)
250 % & o 91 &1 SHant pa uikaal @ (TVC) 450 7, df SHan Sirad Saamed
@r (AC) fepaett &1t ?

(A) X770 (B) T 50
(©) <20 (D) T 10
9 A system of exchange where there is no involvement of money is called : 1
(A) Barter system (B) Monetary system
(C) Either (A) or (B) (D) Neither (A) nor (B)
fatrrr @ a7 womer fad go1 @1 Suam TE e, SH wEd &
(A) =g ot gomelt (B) HaT Yurrat
(C) ardr (A) am (B) (D) T a (A) &R 7 & (B)
10 Revenue from sale of goods is determined by : 1

(A) Price of the goods = Quantity sold in the market
(B) Price of the goods x Quantity sold in the market
(C) Price of the goods — Quantity sold in the market
(D) Price of the goods + Quantity sold in the market
fordll axg @1 foenl & W W @1 e B ©

(A) I B HFG = IR A T4 T3 AT

(B) a& @l &Wd x SR # 99 T3 AT

(C) a&g & &HWd — IR ¥ Sl T3 7=

(D) a& @ HFd + IR A g9 T AT

11 Functions of a bank are : 1
(A) Giving loans (B) Accepting deposits from the public
(C) Keeping valuable materials (D) All of these
TUch ¥& & B % :
(A) *I Bl < (B) @R & S 9T BT
(C) Taa™ &gl &l @l (D) ¥ Td
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12 Which bank is the head of the banking system in India? 1
(A) State Bank of India (B) Reserve Bank of India
(C) ICICI Bank (D) Industrial Development Bank of India

qRa & B9 S SfehT e &1 ey &7

(A) w2 ¥ % Ifear (B) fod §& e 3fEan
(C) oS H1.ems.d1.omE. d% (D) wRdE siEife e da
13 If a bank received a deposit of ¥ 10,000 and it gave a loan of ¥ 8,000 1
to a borrower, how much will be its secondary deposit?
(A) ¥ 10,000 (B) < 8,000
(C) % 18,000 (D) None of these

g & S 10,000 T SH1 & Y H W biar & AR fhEr %o @ 8,000 T @1 Fo
AT T 3T fadae S iy fhder Bl e

(A) ¥ 10,000 (B) ¥ 8,000
(C) T 18,000 (D) ¥ & By T
14 Minimum amount required to establish a small scale industry : 1
(A) T 15 lakh (B) I 20 lakh
(C) T 25 lakh (D) T 30 lakh

T WY TART HI WA &6 [0 FAaH o T BT Sagashal &l §

(A) R 15 @@ (B) % 20 @@
(C) T 25 @@ (D) T 30 @@
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15 Indian exports reach which country among these countries?

(A) Britain (B) US.A.

(C) U.ALE. (D) All of these
frfafad & 9 f 3o & WA fafa s g ¢

(A) e (B) dgF T
(C) dga 3T 3R (D) SUX & qHl

16 Which sector out of the following is attracting funds from foreign countries?

(A) Primary sector (B) Secondary sector
(C) Service sector (D) None of these
frrefafad & 9 dF—a1 &5 R | Bl Bl SAHIT B & 7
(A) wrafhe &= (B) fadas &=

(C) @ar & (D) ¥ & &g T

17 Causes of habitat degradation are listed below :
1.  Urban expansion of natural habitats
2. Solil erosion and desertification
3.  Deforestation
4.  Slashing agricultural methods
Find out correct option :
(A) Only 1 and 3 are correct. (B) Only 2 is correct.
(C) Only 1 and 2 are correct. (D) All are correct.
Ui STaTd & F=Iheel & SRl A ol T 8 ¢
1. vplas smemdl & TR H famn
2. g & HmIE g FSHAD

3. Tl B Ber
4. @A G By fafa
Tl faswea g -
(A) Had 1 3R 3 & 2 (B) Faw 2 @& B
(C) haw 1 8fix 2 =& %) (D) T =& F)
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18 Which of the following Acts applies to all goods and services?
(A) Essential Commodities Act
(B) Consumer Protection Act
(C) Prevention of Food Adulteration Act
(D) None of the above
1 & § sF-—ar st a9 aegetl o denet § @ Bl § 7
(A) e gy sitats
(B) Suuer €A Srffad
(C) w@m yard fraree iy sifufras
(D) T ¥ ¥ &5 ol
19 The number of District Consumer Forums in the country :
291 7 TSAT IUHERT BIRH B FEn fehal § 7
(A) 402 (B) 508
(C) 604 (D) 710
20  Which of the pollution given below disturbs the natural food-cycle?
(A) Air pollution (B) Water pollution
(C) Noise pollution (D) None of these
1 5 | DF—91 YgU ihiae @ @ § S1E qgand § 7
(A) 9rg ggum (B) it wgwor
(C) =t wqwm (D) ¥ & &g T
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21 State whether the given statements are True or False : 2
(A) Transfer of services is not possible.
(B) Consumer goods help in producing other goods.
Sasy o e o T weE e € A e
(A) Tarsfl &1 TR TF g Tl Bl

(B) SUHIeRT TJE S aEgell &b Sed ¥ TErd el ¥ |

22 Fill in the blanks : 2
Both and entrepreneurs may produce public goods.
g @ wfw -
3R SEHl ST WTeSIe aegall H ST BT Ghd & |
23 State whether the given statements are True or False : 2

(A) Demand for those goods increases which are in Fashion.

(B) Demand for a commodity is directly related to the price of its
complementary goods.

garzu 6 = R ™ wuw @@ ¥ wr e
(A) 3 Iwgatl & A Tl & Sl By H F
(B) forel axg &l ART I8! e IS Bl DFd § Y& ®9 9 Grad sl |

24 Fill in the blanks : 2
curve is a diagrammatic representation of demand.
e @ Wi
b AT & EARGEICE LSRG I
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25 Fill in the blanks : 2

is measured at a particular point of time whereas is measured
over a period of time.
e o 9 -
. T gAfMgM AN A s W6 UH 999 Eiy U H0
ST B |
26 Complete the following table : (assuming there are only 2 firms M and 2
N in the market)
Price of Quantity Supplied of Chairs
Chairs ) Firm M Firm N Market Supply
100 — 350 400
200 100 - 800
400 200 1050 —
500 — 1300 1600
e arferest 1 QU @< (W T R SeR 7 daw & M SR N F)
F4 A FA A A B AN
FERH | WM w4 N TR I
100 - 350 400
200 100 — 800
400 200 1050 —
500 — 1300 1600
27 Fill in the blanks : 2
Secondary data may exist in its unpublished form as reports of the
government and reports of the students.
g @ wfw .
SR fEiiad aiichs TXHT & e o feentérat & frard &
9 H & Had |
28 State whether the given statements are True/False : 2

(A) Items are shown individually in the discrete series.

(B) Discrete variable has a specific value/measurment.

gasy fop 7 wuw @2 § a1 e

(A) =afrrTa &9 ¥ 93l &I fafess (sraq) s@er o urer ST $1
(B) fafesw (smaq) =X & fafdee qwa/¥m9 2 2|
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29 Fill in the blanks :

Arithmetic mean is obtained by the sum of the items by the

of items.

e o v -

A A1 W&l % S Hl qal bl g HT T fpan ST |

30 Fill in the blanks :

If weekly consumption of rice by Mr X is 2.1 kg, his average daily consumption
is and 10 days consumption is kilogram.

e @ Wi

Y &Y X' & AT &1 Arciieds SUHRT 2.1 fepaiumg 8, dF @ Ufdied @l ofed @ud
AR 10 foq @ @uq fpam 2Rl

31 Write one word answer for the following :

(A) Which production activity of the secondary sector is a regular activity
seen in urban areas?

(B) Which occupation is predominant in the primary sector?

1 &1 & 9= # I fafag ¢

(A) fade &5 o D81 Iaed fhar ol § At &9 9 <@l S @ ?
(B) @H-91 e WUt &Fs § g 8 °

32 Fill in the blanks :

In terms of wages and salaries, sector pays more than that of

sector.

fam = Wi

AL SR I & AHAl | BEe) &9 9 3 Iar Bl
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33 Match the columns : 2
A B
(A) Multinational Corporations (i) Does not have democracy
(B) China (i1)) Education and health are of high quality
(iii) Emerged from USA

(iv) Agriculture is very advanced

Wl &1 e By ¢
A B
(A) TS frm (i) e 7 '
(B) dM (ii) TTa wg fem v @ne
(i) €gaa T D § M
(iv) aftr smegfe Hiy
34 State whether the statements given below are True/False : 2

(A) Buying of goods and services by domestic citizens from the foreign
countries is called exports.

(B) Through trade people get a lot varieties of goods and services.
FaEy 6 F weT @@ € a1 Tad ¢

(A) =Xq TRt g faestt & axgetl ok Fanet & %y Frf Heam |
(B) =R § AN fafe= JeR &1 awgstl & 9 Hid & |

35 Fill in the blanks : 2
The consumers should not indulge in and consumption.
e o i
SRS Bl 3R 1 JUHNT TEl AT =Y |
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SECTION - B

gug — q

36 Distinguish between 'land' and 'labour' as factors of production. 2

ST % WU b &0 H g SR ‘g9’ % d/g oIk Saisy |

37 Explain the production process. 2
I UhAT bl ATl HifeTy |
OR / 3ty

Explain how the firms and industries are the source of employment to the
people.

e B fh hY ®H ST SAN @l %l USR Y& & & &id o |

38 How does the income of the buyer affect the individual demand for a 2
commodity?

hdl 1 ST fepHl g 1 ATKTTT ART Bl By YHIIA Bl & 7

39 Explain the 'store of value' function of money. 2
I % U O B Bl ATl B |
OR / 3ty

Explain how money is exchanged in the form of currency notes and coins.

9o e g | BET A Sl Ryael ® ga@r S € 7 et ity |

40 How is indirect investigation method different from direct personal 2
investigation?

IEE STHYN [afy yae AfRrTa srae fafy & &y = g7

41 Draw a four-bar simple bar diagram marking axes clearly. 2

U T US| o G TUS O 9 3T Iqkh ofelf bl weea: sifthd &e |
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42

43

44

45

46

47

Which production units are included in the secondary sector? 2

fadae &9 & b Sacs seEal & e fmar wiar & 7

"Trading activities are integral part of the economy'. Explain. 2
R & Tafaredr quiey ¥ STfeerar & v &1 e &1 |

How does the environment sustain life by providing biodiversity? 2
AR S fafqedt SR &9 SaT @l =i S @ ¢

OR / 3t
How does pollution adversely affect the health of living beings?

TGWYT Sifad WINTAl & e &l el YA HIaTl & 7

Explain the need for 'consumer awareness'. 2
SUHIAT STEDT Dl AT Dl AT bl |
OR / sy

Explain the 'Consumer Redressal System' in India.

qRd § “Iuear e Haer gener’’ @ aredn st |

What do you mean by 'Recycling'? Explain how it can contribute to sustainable 2
development.

YIABIHIT F Y RN THAA ¢ ¢ AT L (b I& gRod g § e qerdh &l
ehdl 51
OR / 1y

How does the judicious use of resources contribute to sustainable development?

HTEAT 1 gl JarT e faem # f6d Y aNee ot & 7

"There is no time gap between the production and consumption of services 3
but there is time gap between the production and consumption of goods'.
Explain.

Farel % IAET ST IHh SUANT § GHI ST el Bl Wichd a&stl & Sedrad

3 Uk SUHN ¥ THT S Bl & | ATl Sitod |

48 Define 'entrepreneurship'. What are the qualities of an entrepreneur? 3
‘FEALMAAT BT IRATT AT T el § diN—a1 fg9ard B 2|
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49

50

51

52

53

54

Explain the concept of 'Process based division of labour' with the help
of a suitable example.

‘GiehAT ST FHIIHTS bl STAETION I ATEAT Udh IATELU &I BT |
OR / 3@

Distinguish between 'labour-intensive technology' and 'capital-intensive
technology'.

‘FH e Tl ST USil TEA qebril & S T8 W i |

Suppose you are unemployed and living in an urban area. You want to be
self employed by starting your own business. Which bank will you approach
for taking a loan? Explain.

A AT o oTd ISR & ST 1681 36mh & (@ & | MY 379 HET B & Hih
Ueh WS 91 ATed & | M9 fohe &6 o ure 01 9T & & fold ST 7 =gren
BT |

'Statistical data are always quantitative in nature'. Do you agree? Give example.
Wi aiws! & WE FHIM AHEG il ¢! 1 A9 3§ a1d d HeEd © ¢
SEE AT

OR / 3@t
'Data is collected for a pre-determined purpose'. Explain.

‘Hipsl &1 WIE THh qE-—Wuiia 3597 & g foan <ian &1 e s

'Habitat degradation leads to a reduced carrying capacity of that area'.
Explain.
i AE & FT-hor ¥ I & &I 90T AT HH Bl o ST Hiferd |

Prepare an imaginary demand schedule of a consumer based on five prices
clearly bringing out the operation of Law of Demand.

U HIEdl 9T ST Ji 1 EH q9d §Y U SUHIAT dI el [T il
TR

What procedure is followed for filing a complaint as a consumer? Explain.
Ueh SN & &9 § FIhEd ot &l @ o Yihar 9ATs Wkl & ¢ JHssy|
OR / 3t

What role is played by the NGO's in helping the aggrieved consumer?
Explain.
GIfSd IR Bl HIE & (Y Teh I—TXBI FI1ST T T 3T Bl & ¢ F9ssy |
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This Question Paper consists of 54 questions and 16 printed pages.
39 Y- § 54 957 741 16 g 1= ¥
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General Instructions :

1 Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

3 For the objective type of questions, you have to choose any one of the four alternatives given in
the question i.e. (A), (B), (C) and (D) and indicate your correct answer in the Answer-Book given
to you.

4 All the questions including objective type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective-type questions.

5 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

6 In case of any doubt or confusion in the question paper, the English Version will prevail.

7 Write your Question Paper Code No. 68/0S/2, Set |B | on the Answer-Book.

8 (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer

in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Odia,

Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided

in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the

responsibility for any errors/mistakes in understanding the questions will be yours only.

68/0S/2—214-B | 1 I - [ Contd...

Unnati Educations
For Solutions, Contact Us
9899436384,9654279279



AT 39T -

1

2

Tl U9T-UF % UE UNS UX STUAT ShAIh oAy foe |

FUAT YT Bl AT @ b YT-UT b HA YS! qAT YA Bl Ia! & WA & fAaAr gem
U3 % a9 HUT BUI &1 3@ 91 I SAd W B o b YT hiAh €9 H |

JEgFrs geat & Ul A faawedt (A), (B), (C) @91 (D) # & $IE TF A AT & T &
T SA-gRAaH § 39 Hel A dl [WEl |

TR Tl & I G YAl &b X aiia @ty & 9iax & a7 €1 agiTe vl
& fu oo @ gHg @l fen s

SA-gias ¥ weaH-fag S stgan i Wt & sifafea wel ft srgwaie faay X
T Bl ST SETAT SR

UeTaS # el T YR % Hae Styar gfaen o Rufq § SRS oA & 9 erm|

3T ST-YRasd T U797 &1 &S 4. 68/0S/2, ¥ |B| |

(@) W9 haw W/ § &1 BT oft, 9fs ong A’ @ e &Y 8 Rt Tw W § IR
T 9hd ® ¢

piepull, ARTYY, STHRAT, TUTE, BT, T&hd S |

HUAT IR-YRah1 H oy U gt ¥ fow 6 oy e | § I fow @

(@) afy g &L v s & arfofad frdY o wron & oo forad &, @ 9ot &l ause
¥ B Al Jfedl / TAladl B SRR head el SRl

NOTE / ot :

(1) Answers of all questions are to be given in the Answer-Book given to
you.
gl gl o TR STRT o Tl SR gRaen H & foe |

(2) 15 minutes time has been allotted to read this question paper. The
question paper will be distributed at 02.15 p.m. From 02.15 p.m. to

02.30 p.m., the students will read the question paper only and will not
write any answer on the answer-book during this period.

29 Y9-U5 I Ygd & fau 15 fae o1 wma o @1 | 99991 o1 forrer et
T 02.15 ot foham STEm | 02.15 &1 ¥ 02.30 &1 G BT hdel Y9H-F ahl I
3R 39 2mafy & SRE F SR-YRHT R HIE SN Tl o |
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ECONOMICS

FYITA
(214)

Time : 3 Hours] [Maximum Marks : 100
g ¢ 3 Hue] [qurics : 100
Note : (1)  This question paper consists of 54 questions in all.

(i1))  All questions are compulsory.

(iii)) Marks are given against each question.

(iv) Section — A consists of :

(a) Q. No. 1 to 20 - Multiple Choice Questions (MCQs) carrying 1 mark
each. Select and write the most appropriate option out of the four options
given in each of these questions.

(b) Q. No. 21 to 35 - Objective type questions carrying 2 marks each (with
02 sub-parts of 1 mark each). Attempt these questions as per the
instructions given for each of the questions 21 to 35.

(v) Section — B consists of :

(@) Q. No. 36 to 46 - Very Short Answer type questions carrying 2 marks
each to be answered in the range of 30 to 50 words.

(b) Q. No. 47 to 52 - Short Answer type questions carrying 3 marks each to
be answered in the range of 50 to 80 words.

(c) Q. No. 53 and 54 - Long Answer type questions carrying S marks each
to be answered in the range of 80 to 120 words.

e (i) 39 999 A A 54 s )
(i) &+ wew orfard ¥
(iii) ¥A® U & &b Igb HMA MY T ¥
(iv) @ — & & 9T 39 YBR ¢ :

(a) 9T W@ 1 9 20 T Tglamhedl U9 §, Ydsd U 1 3id &1 5| gaitasw
SUge [qhed bl gMU qu1 39 YeT HE & dMe foray |

(b) usT dE&m 21 § 35 O% IGgWH UeT ¢, UAd UeT 2 3% &b 3|
(I % 2 @g WM Uh-Udh 3 & s)| 39 21 & 35 O% & WAl
& 36 fau feg o frdelf & ogER &@ HIfWQ

(V) @%E—-9 % YT 39 YBK & :

(a) UsT €A 36 ¥ 46 T% SAfqTg SUX YHX b TAD 2 bl b U & |
e Sax 30 § 50 ot H famm s ©

(b) WsT HEAT 47 ¥ 52 % WY—IAT YHN b UAH 3 3l & YT & | foTeeh
AT 50 ¥ 80 ereai H femm OB

(c) 9T H&AT 53 qAT 54 IH-IAX YR b YD S bl b 9T ¥ | Fiewr
S 80 ¥ 120 =l # famm o)
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SECTION - A

gug —
1  When a teacher teaches in the class, it is an example of : 1
(A) Free service (B) Economic service
(C) Producer service (D) None of these
N9 U e hem ¥ geidl €, O 9% 39 Wl Bl I&EA §
(A) H& Har (B) e S
(C) Sw=® Ta (D) 3T ¥ g el
2 Which of the following statements is correct? 1

(A) Durable use producer goods get depreciated after continuous use.
(B) Economic goods can be bought in the market.

(C) Private goods are privately owned.

(D) All of the above

frfafad o § N a1 HoA T8l & 7

(A) TEIERT IAEE TEGSHl b AR SUANT § SHBI s &l Sl ¢ |
(B) ot axgd I § W&l S dehdll & |

(C) Tl o feit wnfra & Bl 21

(D) FUX & Gl

3 Production units which produce goods and services for sale in the market 1
with the aim of earning profit are called :
(A) Government production units (B) Foreign production units
(C) Private production units (D) Indigenous production units
TG ZHIEAT Sl TEGSA 3R Faratl 1 IE R § SIB @TH BHM & AT B
€, 39 ®eEd ©

(A) GBI IAET IHISAT (B) facelt Sces sosar
(C) fooit ImEs gHrear (D) =Xq SMEA FHEAl
4  Minerals and Metals Trading Corporation (MMTC) is an example of : 1
(A) Foreign production unit (B) Co-operative society
(C) Public sector undertaking (D) Private non-profit organisation
g1 g @iiel @R e fhger ue I & 7
(A) fecsll ST garg (B) weardl |fufa
(C) wrduifies & Suhd (D) el IR—eveerdl €reA
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5  Suppose you are a producer. In which of the following situations you will 1
expand your productive capacity?

(A) Production > Consumption (B) Production = Consumption
(C) Production < Consumption (D) None of these

A AT feh 81T Ueh Scmees & | 1 & § fohe otaweam ® oM 3799 Icares &THal
CARSII BRI

(A) TJ@EEA > IUHFT (B) SdEH = SUHM
(C) Seurad < SqHRT (D) = @ &g &
6  Cost of the self-supplied factors is called : 1
(A) Fixed cost (B) Variable cost
(C) Implicit cost (D) Explicit cost
TGS TIET B AT Bl Hed &
(A) Rex @rra (B) uftadt @r@
(C) o= |rTd (D) W= «ra

7  If 70 units of output are produced and the total fixed cost (TFC) is ¥ 250 1

along with total variable cost (TVC) of ¥ 450, how much will be the average
cost (AC) of the production?

gfs fpell a&g @ 70 3@EAl &1 IUEA Bl & iR S&d! $a Rex @ (TFC)
250 T ¥ ofk |ry €1 sHa! ot ikl @ (TVC) 450 X %, @ I8! ofidd Samed
@ra (AC) fepa=t Brmr?

(A) 70 (B) %50
(C) T 20 (D) X 10
8  Which revenue of the following is the same as price of the commodity? 1
(A) Total Revenue (B) Average Revenue
(C) Marginal Revenue (D) None of these
frfafad & 9§ @ W M I& B HHAT b G © 7
(A) Pa ™ (B) ofEd smm
(C) = e (D) 9 & HE T
68/0S/2—214-B | S N [ Contd...

Unnati Educations
For Solutions, Contact Us
9899436384,9654279279



9 Revenue from sale of goods is determined by : 1

(A) Price of the goods = Quantity sold in the market

(B) Price of the goods x Quantity sold in the market

(C) Price of the goods — Quantity sold in the market

(D) Price of the goods + Quantity sold in the market

forelt aeg @1 fashr & ot S @ FreiRor g ®

(A) I B HFd = IR A TG T AT

(B) a& @l &Wd x SR A 99 T3 AT

(C) a%g & HFd — I § 91 T5 AT

(D) a& @ HFd + SR A TG T AT

10 Functions of a bank are : 1
(A) Giving loans (B) Accepting deposits from the public
(C) Keeping valuable materials (D) All of these
% §% b BE ©
(A) FoN BT AT (B) i § ST 9T AT
(C) Teaam™ aegait &l @A (D) I g
11 A system of exchange where there is no involvement of money is called : 1
(A) Barter system (B) Monetary system
(C) Either (A) or (B) (D) Neither (A) nor (B)
fatrrr @1 gz womel fad ga1 @1 Suan FE e, SH ®Ed |
(A) g b ot (B) a1 gomer
(C) ardr (A) am (B) (D) T (A) &R 7 & (B)
12 Indian exports reach which country among these countries? 1
(A) Britain (B) US.A.
(C) U.ALE. (D) All of these
frfafed & & fo 3o & AR Fia e § 7
(A) fee= (B) dga Tog aTien
(C) dga 3T 3R (D) U & T
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13 Which bank is the head of the banking system in India? 1

(A) State Bank of India (B) Reserve Bank of India

(C) ICICI Bank (D) Industrial Development Bank of India
IRA § BH-a1 S ST e &1 e & 7

(A) wWe d& % e (B) R §& e 3fean

(C) omg.dem.drems. ¥& (D) W afenfe famm S

14 Which sector out of the following is attracting funds from foreign countries? 1

(A) Primary sector (B) Secondary sector
(C) Service sector (D) None of these
freafaiad & @ @F—ar & faastl § HIul bl ST Han & 7
(A) s &= B) flrae® &=
(C) Har & (D) = & &g &
15 Minimum amount required to establish a small scale industry : 1
(A) I 15 lakh (B) I 20 lakh
(C) T 25 lakh (D) % 30 lakh
TH @Y IEN DI WA & [ FATH a1 TRT B AELIHRAT Bl §
(A) T 15 @@ (B) ¥ 20 @@
(C) 25 (D) % 30 @™
16 If a bank received a deposit of I 10,000 and it gave a loan of I 8,000 1
to a borrower, how much will be its secondary deposit?
(A) ¥ 10,000 (B) ¥ 8,000
(C) % 18,000 (D) None of these

gfg &g §& 10,000 I 591 % WY H U biar & K fhar %o @ 8,000 T @1 For
AT T | 39! fEdEse ST iy fehar BT P

(A) T 10,000 (B) ¥ 8,000
(C) T 18,000 (D) 379 ¥ @3 Tl
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17  Which of the pollution given below disturbs the natural food-cycle?

(A) Air pollution (B) Water pollution
(C) Noise pollution (D) None of these

9 & ¥ -1 YU Wipfas @ JEar 9 9ren 9gand © 7
(A) g gua (B) st wgwor

(C) =aft wgw (D) = & B T

18 Causes of habitat degradation are listed below :
1.  Urban expansion of natural habitats
2. Soil erosion and desertification
3.  Deforestation
4.  Slashing agricultural methods
Find out correct option :
(A) Only 1 and 3 are correct. (B) Only 2 is correct.
(C) Only 1 and 2 are correct. (D) All are correct.
UThiceh STEd % B & SRl A i ™ 2
1. vl omemdl & TRl H fawn
2. ¥ @ ®HE T SSTBI

3. Al @ ®ers

4. @A SE By fata

el faeed g -

(A) &aw 1 &R 3 & (B) haw 2 W& Bl
(C) haa 1 3K 2 @& 2 (D) |+ @& )

19 Which of the following Acts was enacted to provide cheap and quick justice
to the consumers in the country?
(A) Prevention of Food Adulteration Act
(B) Essential Commodities Act
(C) Consumer Protection Act
(D) None of these
g H T A § de—ar sifufam Suviensti ol gwr ud o <= fea™ & fag @
fopam T % 7
(A) @ fHamEe s sifafas
(B) oifvemd awg stfafem
(C) TuHiarn €@Xequr sy
(D) 7 ¥ ®ig 7
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20 The number of District Consumer Forums in the country : 1

39T § fSTelT ST ®IRE ) & fhaer &7

(A) 402 (B) 508
(C) 604 (D) 710
21 Fill in the blanks : 2
Both and entrepreneurs may produce public goods.
e o i -
3 SEMl I HIETe aEgel Bl ITET BT Thd ¢ |
22 State whether the given statements are True or False : 2

(A) Demand for those goods increases which are in Fashion.

(B) Demand for a commodity is directly related to the price of its
complementary goods.

qarzu 5 1 R ™ wuw @@ ¥ o e
(A) 37 Iwgstl & JF Fodl & ol By H &
(B) Tordll g @l AN SHST TN a&gsll & HFd ¥ Yd& §9 § T&rad sl ¢ |

23 State whether the given statements are True or False : 2
(A) Transfer of services is not possible.
(B) Consumer goods help in producing other goods.
aRt 6 = Y ™ suw 98 ¥ a1 Ted
(A) Harer &1 QR e g el 8|
(B) SUHERT TgY T gl &b e H WEEd Bl § |
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24 Fill in the blanks : 2

Secondary data may exist in its unpublished form as reports of the
government and reports of the students.
e @ why
AT fEciiadh aichs qXHN % frare o faenfémt & e &
9 H & ad ¢ |
25 Fill in the blanks: 2
schedule is a presentation of different quantities of a
commodity supplied by a firm at different prices..
e Tl @t gfd @]
IO Ueh B &1 [hHT a%g @l fafq= sial 98 &l 15 9 %l Asl @l
I £ (<] x4 Y
26 Fill in the blanks : 2
is measured at a particular point of time whereas is measured
over a period of time.
RCHIRSIE I (R
. TH g g W AW WA § WE . Ue 9Hg S|ty gy A
ST B
27 State whether the following statements are True/False : )

(A) Mass data in its original form is called raw data.
(B) Attributes are difficult to be investigated in depth.
El?ﬂ?@f for =1 weu 9@ ¥ a1 Ted
(A) 7@ &9 ¥ Siichel & W6 B b o7ihs Hed & |
(B) oI @1 & SITHYUN HIAT qhd Bl |
68/0S/2—214-B | 10 N [ Contd...
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28

29

30

31

Complete the following table :

N in the market)

(assuming there are only 2 firms M and

Price of Quantity Supplied of Chairs
Chairs () Firm M Firm N Market Supply
100 — 350 400
200 100 — 800
400 200 1050 —
500 - 1300 1600
e anferest &1 QU @} (AW ARTT R IR A Faa & wH M eI N E)
FA A FA 1 gfA A AN
Fma (R #) W M i N TR I
100 — 350 400
200 100 — 800
400 200 1050 —
500 — 1300 1600

Fill in the blanks :

If weekly consumption of rice by Mr X is 2.1 kg, his average daily consumption
is and 10 days consumption is

o = Wi
M Y 'X' & Arad BT Grarisd SUHET 2.1 fhamm &, d S9! fafeT @ sfidd @ud

AR 10 feq o @uq

Fill in the blanks :

Arithmetic mean is obtained by

of items.

fa = Wi
T |1 Hal & SIS ! Hal &l q

Fill in the blanks :

In terms of wages and salaries,

sector.

o @m 9w -

LECRURCIRECE L B G K| &5ih

68/0S/2—214-B |
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kilogram.

fpeam &R

the sum of the items by the

&Y T fepam AT B

11

sector pays more than that of

&b ¥ e aal B |
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32  Write one word answer for the following : 2

(A) Which production activity of the secondary sector is a regular activity
seen in urban areas?

(B) Which occupation is predominant in the primary sector?

1 &1 & g # I fafag ¢

(A) f&dad &9% o S Saed fhar el o Fafta &9 9§ 3@l o 8
(B) -4 FedE WUt &Fs § g 8 7

33 Fill in the blanks: 2

have become stronger and organised because there are
associations to protect their interest.

foa @ gfto

qrhaaR X Gied & 19 & =it I T 39 feal @l Tem
HE & |

34 Match the columns : 2
A B
(A) Multinational Corporations (i) Does not have democracy
(B) China (i1)) Education and health are of high quality
(iii) Emerged from USA

(iv) Agriculture is very advanced

w4l &1 fam #ig ¢
A B
(A) sgudE Frm (i) v T ¥
(B) @M (i) <= @i fen v @
(i) Hgaa T B H M
(iv) eifq ey iy
68/0S/2—214-B | 12 I | Contd...
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35 State whether the statements given below are True/False : 2

(A) Buying of goods and services by domestic citizens from the foreign
countries is called exports.

(B) Through trade people get a lot varieties of goods and services.
qasu fo = ®ue 98 ¥ 91 Twa ¢

(A) a¢q et &1 fagen | axgetl ok gerstl &1 %y Fafq weamn |
(B) =MUR ¥ @R 4= YebX @l a&genl @l 9 oid & |

SECTION - B

gog — q

36 Explain the 'store of value' function of money. 2

1 % Ied O’ B Dl ATl Hig |
OR / st¥an

Explain how money is exchanged in the form of currency notes and coins.

9o e g | BET A ST Ryl # g S € 7 Aren it |

37 Distinguish between 'land' and 'capital' as the factors of production. 2

SRS & WEAl % B H Y Td el % diE SR W Hifeid |

38 Explain the production process. 2

TS UEhAT @l TEAT HifTd |
OR / sy

Explain how the firms and industries are the source of employment to the
people.

e B o hY ®H ST SAN @Il ®l SR Y& i & aid o |

39 How is primary data different from secondary data? 2
i sifs fedas sifwst @ g yar fo=t e ¥ 7
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40

41

42

43

44

45

46

Which production units are included in the secondary sector? 2

fadae ave o fh Ses geEal &l i fhar Srar & 7

How does taste, preferences and fashion affect the individual demand for )
a commodity?

Bid, IO ad1 % e YR | [T a%g dI AR AT HI UG B & ¢

Draw a four-bar simple bar diagram marking axes clearly. 2

TUeh T TUS[ ol G IUS O S 3T IHKh 37elf bl Weea: sifthd oe |

Explain the need for 'consumer awareness'. 2
SUHIHRT SRERAT Dl ATAIDHAT Dl ATl DI |
OR / 3t

Explain the 'Consumer Redressal System' in India.

aRd ¥ Iuer R farer gener’ @ e sifeg |

"Trading activities are integral part of the economy'. Explain. 2

IR & Tfard quiey ¥ Tfererar & v &1 @ &1 |

What do you mean by 'Recycling'? Explain how it can contribute to sustainable 2
development.

YAABIHI F Y RN T ¢ 7 AT B b Ig arong fab § w9 gersd &
el & |

OR / a1yt

How does the judicious use of resources contribute to sustainable development?

HTEAT T iRk~ T grend faer # 68 Yt aNee ol & 7

How does the environment sustain life by providing biodiversity? 2
AR S fafqedn g/ &9 Siad b 91id & o 7
OR / 3@t

How does pollution adversely affect the health of living beings?

YT ST WA % @RS Bl by HUHIGd Bl & ¢

68/0S/2—214-B | 14 Ny - [ Contd...
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47

48

49

50

51

52

Explain the concept of 'Process based division of labour' with the help 3
of a suitable example.

‘gispar SENid SHfTHST &I TN Bl ATT Udh IaTE LI &I BT |
OR / 3@t

Distinguish between 'labour-intensive technology' and 'capital-intensive
technology'.

‘IH e Tl S USil e a6 S T W Hifg |

"There is no time gap between the production and consumption of services 3
but there is time gap between the production and consumption of goods'. Explain.

HaTeTl % SUEA S IAh SUHN H GHAY ST &l Bl Wik q&gel b IET
3R Tk SUNNT ¥ TN SIS Bl © 1 ST Hifeid |

'Statistical data are always quantitative in nature'. Do you agree? Give example. 3
ifegara fihs! 1 @Ed THl AFHEG el o F1 9 39 91 § ¥eAd o ¢
JaTEL ST

OR / 3t

'Data is collected for a pre-determined purpose'. Explain.

‘Hinsl & WIE Th qE-— MG 3597 & o foan siam &1 e sl

How is production "Creation of utility"? Explain. 3

SAEA e YR SUAIRET &1 gee ¥ 7 gussu|

Explain the major causes of soil degradation. 3

HaT YT b &I BRI bl ARAT DT |

Suppose you are unemployed and living in an urban area. You want to be 3
self employed by starting your own business. Which bank will you approach
for taking a loan? Explain.

A AT foh T IS € 377 918 3oeh H & & | 3T 3T FIHT Bl & Bich
Teh WS ST AEd & | 39 T S o U1 T Wi i & fold SR 2 et
HIfTT |
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53 What are the grounds for filing a complaint by the consumer?
SR BT a5 & % R/ SER § 7
OR / 3@t
What do you know about the 'Right to Consumer Education'? Explain.
JuureR f3re w1 S | oY T WA § ¢ qHEy |

54 Prepare an imaginary demand schedule of a consumer based on five prices
clearly bringing out the operation of Law of Demand.

Uig Bl U ST AT BT FEH q9d 5T Uh SUHIGT HI BIedTh JIT qlieTl
TR
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This Question Paper consists of 54 questions and 16 printed pages.
39 Y- § 54 957 741 16 g 1= ¥

Roll No. Code No. 68/0S/2
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(wden @ fom 7 fe=i)
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General Instructions :

1 Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

3 For the objective type of questions, you have to choose any one of the four alternatives given in
the question i.e. (A), (B), (C) and (D) and indicate your correct answer in the Answer-Book given
to you.

4 All the questions including objective type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective-type questions.

5 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

6 In case of any doubt or confusion in the question paper, the English Version will prevail.

7 Write your Question Paper Code No. 68/08/2, Set |(C | on the Answer-Book.

8 (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer

in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Odia,

Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided

in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the

responsibility for any errors/mistakes in understanding the questions will be yours only.
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AT 39T -

1

2

Tl U9T-UF % UE UNS UX STUAT ShAIh oAy foe |

FUAT YT Bl AT @ b YT-UT b HA YS! qAT YA Bl Ia! & WA & fAaAr gem
U3 % a9 HUT BUI &1 3@ 91 I SAd W B o b YT hiAh €9 H |

JEgFrs geat & Ul A faawedt (A), (B), (C) @91 (D) # & $IE TF A AT & T &
T SA-gRAaH § 39 Hel A dl [WEl |

TR Tl & I G YAl &b X aiia @ty & 9iax & a7 €1 agiTe vl
& fu oo @ gHg @l fen s

SA-gias ¥ weaH-fag S stgan i Wt & sifafea wel ft srgwaie faay X
T Bl ST SETAT SR

UeTaS # el T YR % Hae Styar gfaen o Rufq § SRS oA & 9 erm|

3T ST-gRas I 99799 &1 &S 4. 68/0S/2, F= |C| o |

(@) W9 haw W/ § &1 BT oft, 9fs ong A’ @ e &Y 8 Rt Tw W § IR
T 9hd ® ¢

piepull, ARTYY, STHRAT, TUTE, BT, T&hd S |

HUAT IR-YRah1 H oy U gt ¥ fow 6 oy e | § I fow @

(@) afy g &L v s & arfofad frdY o wron & oo forad &, @ 9ot &l ause
¥ B Al Jfedl / TAladl B SRR head el SRl

NOTE / ot :

(1) Answers of all questions are to be given in the Answer-Book given to
you.
gl gl o TR STRT o Tl SR gRaen H & foe |

(2) 15 minutes time has been allotted to read this question paper. The
question paper will be distributed at 02.15 p.m. From 02.15 p.m. to

02.30 p.m., the students will read the question paper only and will not
write any answer on the answer-book during this period.

29 Y9-U5 I Ygd & fau 15 fae o1 wma o @1 | 99991 o1 forrer et
T 02.15 ot foham STEm | 02.15 &1 ¥ 02.30 &1 G BT hdel Y9H-F ahl I
3R 39 2mafy & SRE F SR-YRHT R HIE SN Tl o |
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ECONOMICS

FYITA
(214)

Time : 3 Hours] [Maximum Marks : 100
g ¢ 3 Hue] [qurics : 100
Note : (1)  This question paper consists of 54 questions in all.

(i1))  All questions are compulsory.

(iii)) Marks are given against each question.

(iv) Section — A consists of :

(a) Q. No. 1 to 20 - Multiple Choice Questions (MCQs) carrying 1 mark
each. Select and write the most appropriate option out of the four options
given in each of these questions.

(b) Q. No. 21 to 35 - Objective type questions carrying 2 marks each (with
02 sub-parts of 1 mark each). Attempt these questions as per the
instructions given for each of the questions 21 to 35.

(v) Section — B consists of :

(@) Q. No. 36 to 46 - Very Short Answer type questions carrying 2 marks
each to be answered in the range of 30 to 50 words.

(b) Q. No. 47 to 52 - Short Answer type questions carrying 3 marks each to
be answered in the range of 50 to 80 words.

(c) Q. No. 53 and 54 - Long Answer type questions carrying S marks each
to be answered in the range of 80 to 120 words.

e (i) 39 999 A A 54 s )
(i) &+ wew orfard ¥
(iii) ¥A® U & &b Igb HMA MY T ¥
(iv) @ — & & 9T 39 YBR ¢ :

(a) 9T W@ 1 9 20 T Tglamhedl U9 §, Ydsd U 1 3id &1 5| gaitasw
SUge [qhed bl gMU qu1 39 YeT HE & dMe foray |

(b) usT dE&m 21 § 35 O% IGgWH UeT ¢, UAd UeT 2 3% &b 3|
(I % 2 @g WM Uh-Udh 3 & s)| 39 21 & 35 O% & WAl
& 36 fau feg o frdelf & ogER &@ HIfWQ

(V) @%E—-9 % YT 39 YBK & :

(a) UsT €A 36 ¥ 46 T% SAfqTg SUX YHX b TAD 2 bl b U & |
e Sax 30 § 50 ot H famm s ©

(b) WsT HEAT 47 ¥ 52 % WY—IAT YHN b UAH 3 3l & YT & | foTeeh
AT 50 ¥ 80 ereai H femm OB

(c) 9T H&AT 53 qAT 54 IH-IAX YR b YD S bl b 9T ¥ | Fiewr
S 80 ¥ 120 =l # famm o)
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SECTION - A

gog — A
1  When a doctor inspects his patient, it is an example of : 1
(A) Consumer Service (B) Producer Service
(C) Free Service (D) None of the above
T UH Sl T AL & FTU&0 BIar ¢, d 9% 39 Hal & Th IGRI ¢ :
(A) SUHWERT He (B) Tw@E® ar
(C) qw ga (D) SUad & F Blg G
2 Suppose you are a producer. In which of the following situations you will 1
expand your productive capacity?
(A) Production > Consumption (B) Production = Consumption

(C) Production < Consumption (D) None of these
A @I f6 T U Scmee & | i o & fopg oraRenm & of9 o+ Smee &war
Hl TG 7

(A) SAEH > SUHM (B) SdEH = SUHM
(C) T@EA < IYHM (D) T & By T
3  Production units which provide services mainly to serve the members of 1

the society as a whole are called :

(A) Private Non-profit Organization (B) Government production unit

(C) Private production unit (D) Indigenous production unit

TH IEH IBI3 o TS & GHI TR B T T Y T YSH HIAT @, af 39
HEd ©

(A) Pl fR—amwery ween (B) WX SERA 3T
(C) fsill S 318 (D) = SAET IHE
4  Which of the following statements is correct? 1

(A) Durable use producer goods get depreciated after continuous use.
(B) Economic goods can be bought in the market.

(C) Private goods are privately owned.

(D) All of the above

frfafad o 9 @M a1 Hod T8l & 7

(A) TEERT IAEE aEgell b AR SUAN ¥ SHEH! B o Sl ¢ |
(B) ot axgd I § WGl S dehdll & |

(C) freft wwege fosht i ¥ 2 %

(D) U & Gl
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5  Profit is calculated by the formula : 1
(A) TR —TC (B) AR - AC
(C) MR - MC (D) None of these
@Y &b STbAT B G §
(A) % T (TR) ~ et @ (TC)
(B) sfad o™ (AR) — f|a @ (AC)
(C) dmra e (MR) — @ «@ra (MC)

(D) 3 ¥ ®ig T
6  Minerals and Metals Trading Corporation (MMTC) is an example of : 1
(A) Foreign production unit (B) Co-operative society
(C) Public sector undertaking (D) Private non-profit organisation
g1d 9 @iel AR e e T e 7
(A) foeelt Seres gobrg (B) weawrd afif
(C) wdreisii+es &= IUhH (D) st IR-erHebIT EeH
7  Functions of a bank are : 1
(A) Giving loans (B) Accepting deposits from the public
(C) Keeping valuable materials (D) All of these
Tch ¥& & B % :
(A) FoN BT AT (B) w0 § ST 9T BT
(C) vega™ axgell &l @ (D) T g
8 A system of exchange where there is no involvement of money is called : 1
(A) Barter system (B) Monetary system
(C) Either (A) or (B) (D) Neither (A) nor (B)
fatm @ a7 womer fTEH G811 Suan FEl e, SH ®eEd &
(A) =g fafrear some (B) & woTeh
(C) ardr (A) am (B) (D) T (A) &R 7 & (B)
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9  Which revenue of the following is the same as price of the commodity? 1

(A) Total Revenue (B) Average Revenue
(C) Marginal Revenue (D) None of these
Preffian & & 9 O o 9w B B % T B 7

(A) P 3T (B) afEa e

(C) dHra e (D) =9 & g T

10 If 70 units of output are produced and the total fixed cost (TFC) is ¥ 250 1
along with total variable cost (TVC) of I 450, how much will be the average
cost (AC) of the production?
gfs fpdl axg @ 70 SHEAT B SR Bl & S I6d Ha ey @ (TFC)
250 % & o @1y &1 SHant g uikaal @ (TVC) 450 T 7, df e sirad Saames
@ (AC) fepaer Ry ?

(A) %70 (B) ¥ 50
(C) 20 (D) R 10
11 Revenue from sale of goods is determined by : 1

(A) Price of the goods = Quantity sold in the market
(B) Price of the goods x Quantity sold in the market
(C) Price of the goods — Quantity sold in the market
(D) Price of the goods + Quantity sold in the market
forelt axg @1 for & W w1 fefRor g ®

(A) a& B HHd = TR A T T AT

(B) a& @ ®HWd x g A 996 T AT

(C) a&g &l &HWd — IR ¥ Sl T3 7=

(D) =g @ HHd + IR A = TR A

12 Minimum amount required to establish a small scale industry : 1
(A) T 15 lakh (B) T 20 lakh
(C) T 25 lakh (D) % 30 lakh
T%h WY IEAN B WA b T FAGH A AT BT SagIhdl sl §
(A) T 15 @@ (B) ¥ 20 @Wrg
(C) T 25 @@ (D) % 30 @™
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13 Which sector out of the following is attracting funds from foreign countries? 1

(A) Primary sector (B) Secondary sector
(C) Service sector (D) None of these
frrfafad o § -1 &5 R | BNl Bl SAHTT B & 7
(A) wrafes & (B) fiwe &
(C) & &=eh (D) T ¥ @5 T
14 Which bank is the head of the banking system in India? 1
(A) State Bank of India (B) Reserve Bank of India
(C) ICICI Bank (D) Industrial Development Bank of India
R H dH-a1 S fhT =gawn &1 firay &7
(A) w2 d& % e (B) fod §& e 3fean
(C) o 4r.ome d.oms. (D) wdE iRt fawm d@
15 If a bank received a deposit of ¥ 10,000 and it gave a loan of ¥ 8,000 1
to a borrower, how much will be its secondary deposit?
(A) ¥ 10,000 (B) % 8,000
(C) % 18,000 (D) None of these

g & §o 10,000 T 581 & Y H U wiar & AR fhEr %O @ 8,000 T w1 FT
a1 &1 39 fad™e s iy fepan sl ?

(A) ¥ 10,000 (B) < 8,000
(C) T 18,000 (D) 3™ ¥ &5 el
16 Indian exports reach which country among these countries? 1
(A) Britain (B) U.S.A.
(C) U.ALE. (D) All of these
frfafed & & foo 3o § AR fia e 57
(A) fae (B) dga TG ST
(C) dga 3T 3R (D) FUX & gl
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17 The number of District Consumer Forums in the country : 1

39T ® forem Susiear wiRE & " fohaer g7

(A) 402 (B) 508
(C) 604 (D) 710
18  Which of the pollution given below disturbs the natural food-cycle? 1
(A) Air pollution (B) Water pollution
(C) Noise pollution (D) None of these
= 5 | DF—a1 YgUT Uihiae @ @ § STEr ugand © 7
(A) =g qgu (B) & wguul
(C) = wgm (D) ¥ @ B T
19 Causes of habitat degradation are listed below : 1

1.  Urban expansion of natural habitats

2. Soil erosion and desertification

3.  Deforestation

4.  Slashing agricultural methods

Find out correct option :

(A) Only 1 and 3 are correct. (B) Only 2 is correct.
(C) Only 1 and 2 are correct. (D) All are correct.

Ui STaTd % BT & SRl A o ™ 2
1. vl aemdl & TR | fawn
2. ¥ & HIE T FHADII

3. ol @ Hers
4. A S B fata
Tl fasea g -
(A) FHad 1 3R 3 & 2 (B) Faw 2 @& B
(C) Haa 1 3R 2 9& %) (D) I ¥ ¥l
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20  Which consumer court is at the top in India? 1
(A) District Consumer Forum
(B) State Consumer Disputes Redressal Commission
(C) National Consumer Disputes Redressal Commission
(D) None of the above
IRd ¥ o IuwierRTT STeTed @i |1 & 7
(A) TS SuHie ®IRA
(B) =g IUHIER ferame W& S
(C) < IusiieT foae SR SmanT
(D) SWa ¥ ¥ Bi5 el

21 State whether the given statements are True or False : 2
(A) Demand for those goods increases which are in Fashion.

(B) Demand for a commodity is directly related to the price of its
complementary goods.

garzu 5 1 8 ™ wuw @€ ¥ a1 e
(A) I IEgeH &I AT Fodl & ol BIH F &
(B) fordll axg &l ART 38D Wb IESH Bl DFd § Y& €9 9 Giad sl ol

22 Fill in the blanks: 2
quantity of a commodity supplied by all the firms in the market at the
given price is called supply of the commodity.
e e sl
IR & AT B &1 T i @Ma 9 g @l T fRer axg @ LiEl
a?r R wed
23 Fill in the blanks : 2
Both and entrepreneurs may produce public goods.
e @ whg
3% STl ST TeSIe aEgell ® ST BT Ghd | |
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24 State whether the given statements are True or False :

25

26

(A) Transfer of services is not possible.

(B) Consumer goods help in producing other goods.
gaisu fh = i ™ wu 98 ¥ a1 Twa
(A) Haret &1 T @9a Tl 7 |

(B) SUHERT TgY T TGS b SIEd H WEdd Bl & |

Complete the following table : (assuming there are only 2 firms M and
N in the market)

Price of Quantity Supplied of Chairs
Chairs ) Firm M Firm N Market Supply
100 — 350 400
200 100 — 800
400 200 1050 —
500 — 1300 1600
e anferest &1 QU @Y (W AT R IR # Faw & wH M SR N E)
F A FA A A B AN
Fw RH | WM w4 N TR I
100 — 350 400
200 100 — 800
400 200 1050 =
500 — 1300 1600

State whether the following statements are True/False :

(A) In inclusive series frequency corresponding to the upper limit of the
group is included in the same group.

(B) Beauty and intelligence are examples of an attribute.

garzy fop 9 i ™ ®UF 98§ A1 T
(A) TEET @A 9 GE B HIA A bl g Bl U GYE H oA e

ST B

(B) g=ar 8iR gfg T (attribute) % IEEIW &1
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27

28

29

30

31

Fill in the blanks : 2

is measured at a particular point of time whereas is measured
over a period of time.
e @ wig
U g9F (65 UX 9191 S & e Uh GHY AT gX AT
ST 1
Fill in the blanks : 2
Secondary data may exist in its unpublished form as reports of the
government and reports of the students.
e o i -
SHTIITT fEciiad siichs TXHN % frare o faenfémat & e &
9 ¥ & ad ¢ |
Fill in the blanks: 2
A consumer is directly to the people.
e @ Wi
T SUHIRI ARTt % ufq gaE w99 gl
Write one word answer for the following : 2

(A) Which production activity of the secondary sector is a regular activity
seen in urban areas?

(B) Which occupation is predominant in the primary sector?

= &1 TF 9 # S fWfey ¢

(A) Tadoe &% 1 D9l ST hal e § afa &0 ¥ <@l Sl § ¢
(B) ®H-91 e Wate 896 § TE & °

Fill in the blanks : 2

Arithmetic mean is obtained by the sum of the items by the
of items.

e = Wi
G 91 Hal & SIS Bl Hal g &Y T fepam ST B
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32 Fill in the blanks :
If weekly consumption of rice by Mr X is 2.1 kg, his average daily consumption
is and 10 days consumption is kilogram.
e @ it -
3T &1 X' % T T AT<ledh STHNT 2.1 Fhem &, a1 el Uiifed &l oi|d @ud
3t 10 fa7 &t @ua fepairam B
33 State whether the statements given below are True/False :
(A) Buying of goods and services by domestic citizens from the foreign
countries is called exports.
(B) Through trade people get a lot varieties of goods and services.
gy f6 =1 wu |8 € A1 T ¢
(A) = ATt g faee & awgett ot erstt &1 wa Frafq #wsam 2|
(B) @MU ¥ AN fafT= YR &1 awgstl & 9 & & |
34 Fill in the blanks :
In terms of wages and salaries, sector pays more than that of
sector.
faa = whg
gl iR A B A o 3 ¥ o A B
35 Match the columns :
A B
(A) Multinational Corporations (i) Does not have democracy
(B) China (i1)) Education and health are of high quality

(iii) Emerged from USA

(iv) Agriculture is very advanced

w4l &1 e #ig ¢
A B
(A) "gusE frm () yeTea= &
(B) o= (i) =@ @y faen wd @
(ili) Hg&T T BB &
(iv) &if emgiie iy
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SECTION - B

gug — q

36 Explain the production process. 2
TS UihAT @l TEAT HifTd |
OR / 3t

Explain how the firms and industries are the source of employment to the
people.

e B o hY ®H ST SENT @Il bl UK YSH &t & &id o |

37 How does the price of related goods affect the demand for a commodity? 2
foRdl g &1 AT Bl TG IR Bl DA [Bd B THIIT BT & 7

38 Explain the 'store of value' function of money. 2
T & Ued €99 B bl AT DI |
OR / 3yt

Explain how money is exchanged in the form of currency notes and coins.

a1 fpd YR ¥ ‘BREr A’ iR el § Saar Sar @ 7 e Sk

39 Define factor payments. Who pays them? 2
I A I qICATG AT | ST A i &Il & 7

40 Draw a four-bar simple bar diagram marking axes clearly. 2

T 9 TUS| B XA I0S O T OfX Ik @l Hl wWeed: sifhd He|

41 Which production units are included in the secondary sector? 2

fadias &5 o 5 SE® Shedl &l It fhar Sar ¥ 7
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42 How is mail questionnaire method different from collecting data through 2

schedule?

Jimst & Hehad § Sl YeAaal fary, SIggdr fafy o fed v fa=1 § 7

43 How does the environment sustain life by providing biodiversity? 2
AR Sa—fafaedr aRT &9 Siad @l 91T S @ ¢
OR / siyan

How does pollution adversely affect the health of living beings?

Yy SHifad WY % w@ReT @ By FUIIGd B © 7

44 What do you mean by 'Recycling'? Explain how it can contribute to sustainable 2
development.

YIADIBT Y Y T T & 7 AT B b I8 R faeera & 59 wers &
bl o1

OR / a1yt

How does the judicious use of resources contribute to sustainable development?

ETEAl BT o7 YA 9RO e ¥ fhe Y ane ol § 7

45 'Trading activities are integral part of the economy'. Explain. 2

AR &l Tafafal quied & sfefegeren &1 9r & e &Yl

46 Explain the need for 'consumer awareness'. 2

IUHISAT STl i STE9Thdl i AT BT |
OR / @

Explain the 'Consumer Redressal System' in India.

qRa § IuHerar e arer gener’’ @l aren st |
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47 Suppose you are unemployed and living in an urban area. You want to be 3
self employed by starting your own business. Which bank will you approach
for taking a loan? Explain.

A AT foh T IS € 3R 9188 3oeh # & & | 379 37U FIHT Bl & Bich
Teh WIS ST Aed & | 39 d S & U1 T W i o (o0 ST 7 et
BT |

48 Explain the effects of noise pollution. 3
€T UGWIT % YHTE! %l AT DI |

49 'There is no time gap between the production and consumption of services 3
but there is time gap between the production and consumption of goods'. Explain.

WATeT b IAET AT IHD START § GHI ST &l Bl Wich] a3 o Sed1ad
3R Iq%h IUHM § THT S BT ¢ AT Bitid |

50 'Statistical data are always quantitative in nature'. Do you agree? Give example. 3

‘ieahIg 3Tihsl H WEY HIM HEHS oIl &1 o1 Y 39 919 § geqd & 7
TETET0 ST

OR / sy
'Data is collected for a pre-determined purpose'. Explain.

‘fieps! B WUE THh Ya-MUiRa Sged & fod fopan siran &1 =men s

51 How are production, consumption and capital formation related? 3

SIEH, SUHRT Td Yol A e Yo 0% ga¢ & gwrad @ 7

52 Explain the concept of 'Process based division of labour' with the help 3
of a suitable example.

‘GishaT SMEMYd FHITTST bl STAEMON bl ATEAT Uh IS0 & T |

OR / 3t
Distinguish between 'labour-intensive technology' and 'capital-intensive
technology'.
‘FH e qdlel S Yl e ddbrihl & S T W i |
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53 Prepare an imaginary demand schedule of a consumer based on five prices 5
clearly bringing out the operation of Law of Demand.

Ui @l 9X STETRA AR &1 W q9d U Uh SUHERT & Hledrie AT qrfd
EEIE

54 What are the recent measures included in Consumer Protection Act (CPA)? 5
SYHIERTT FE A H M —dhM § I B & H it fhy Mg 7
OR / st

Describe the institutions which deal with the consumer grievances.

I Geqren @t feawer ST S SuMieien @ fyreeraal w1 Muerr wdr B
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